Practice exercise Answers, Lesson 13

1. THRVYEL =,
o X_EBFEHNEBVL

This one is wrong. It should be: BEA"EH LD
o X_235UxMHM2I

This one is wrong. It should be: 25 U7& LD
o O BlFELHE

This is right. The translation is: "The line was busy, so | was upset.”
o X #tklc<<T

This one is wrong. It should be: FeH IC< LD

2. AL

o X BLW&ERL&S

This one is wrong. f1€ must be connected with a negative.
o O MBLEEBATLL

This is right. The translation is: "l did not study anything."

3. DTHEVERATL I,
o X _SNA

This one is wrong. It should be: SN A 7.
o O_CL&DEDI

This is right. The translation is: "Because it was broken, | didn't use it."

o _O_&L<BZELAELNEL



This is right. The translation is: "Because it may not be good, | didn't use it."

4. a7 BEVWEL LD,
o X N

This one is wrong. fAI7ZX is an extent expression. No particle is necessary.
o X &
This one is wrong. fAI 7K is an extent expression. No particle is necessary.
o O o
This is right. The translation is: "How many did you buy?"
o O %
This is right. The translation is: "Did you buy many (long cylindrical things)?"
o _X_I&F

This one is wrong. {17 is an extent expression. No particle is necessary.

5. 5508 SN
o O_BBLALFXIE,

This is right. The translation is: "My younger brother taught." (Humble polite)
o X BEVXRLIEK,

This one is wrong. & & L& U 7z is honorific polite, and cannot be used to refer to someone

in your in-group.
o O_WELZERT,

This is right. The translation is: "My younger brother does (something)." (Humble polite)
o O _BAMYLFRLBATLIED,

This is right. The translation is: "Didn't my younger brother borrow (it)?"

6. NPELIhFTERBAK,



_O_OVFRESE

This is right. The translation is: "S/he may have been free."
O_ZEh\LWiBE

This is right. The translation is: "It may be a pretty car."
X _BZAFLEBATLE

This one is wrong. Before #* £ L & A only direct style occurrs. It should be:
"HCABD2EAELATEAKR, "

X _F3LIKEENLT

This one is wrong. It should be: "S5 UICEbWVWAELNhFEEBAKL, "
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